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Name:_____________________

Period:_____

STOCK MARKET MYSTERY

On January 1, 1989, you received a five thousand dollar inheritance and you wisely invested your inheritance money into the United States Stock Market. You used one thousand dollars to buy each of the following stocks on January 1, 1989:

                                               
   1. Coca-Cola

                                                    2. Microsoft  

    



              3. Proctor Gamble

                                                         4. Oracle

                                                         5. Intel

Your mission is to solve the five mysteries that follow.  

Mystery Number 1:

What was the price of each of those stocks on that day?

   Company



     Price

1.Coca- Cola 


$_______

2. Microsoft



$_______

3. Proctor Gamble                 
$_______

4. Oracle



$_______

5. Intel



$_______

Mystery Number 2:

How many shares could you have bought with a thousand dollars on January 1, 1989?  Round off to the closest whole number.

                                      Company



Number of Shares

1. Coca- Cola


     ________

2. Microsoft



     ________

3. Proctor Gamble                             ________

4. Oracle



     ________

5. Intel



     ________

Mystery Number 3:

How many shares would you have today of each of your companies? (DON’T FORGET ABOUT SPLITS!!!!)

                                      Company



Number of shares

1. Coca- Cola

                _______

2. Microsoft



     _______

3. Proctor Gamble


     _______

4. Oracle



     _______

5. Intel



     _______

Mystery Number 4:

Today’s current price of each of your holdings.

                                     Company



       Price



1. Coca- Cola


$__________




2. Microsoft



$__________




3. Proctor Gamble


$__________




4. Oracle



$__________




5. Intel



$__________

Mystery Number 5:

How much would each company be worth today (Number of shares times P.P.S.)?

                                    Company 



Total Value 




1. Coca- Cola


$________




2. Microsoft



$________




3. Proctor Gamble


$________




4. Oracle



$________




5. Intel



$________

Mystery Number 6:

Because of your wise choice of investment what is your original five thousand dollar investment worth today? Total value of holdings. $__________
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